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i S A 2.0mg/L 10,000L (BRZ280%)
AL 28 3,000L (BRZ&E%£80%)
BEUAOAS 0.100mg/L 5,000L (B3=%80%)
CAT &R22) 0.0030mg/L 10,000L (BRZ380%)
& BRRPLIA 0.050mg/L 3,000L (Bp75%£80%)
2-MIB (HER) 0.00005mg/L 3,000L (BRZ&E%80%)
|  FhSHOOIFL> 0.010mg/L 10,0001 (ER=%80%)
il ~NoooTFr> 0.030mg/L 10,000L (BRZ%80%)
HOOFRILA 0.060mg/L 4,000L (Bp3:5£80%)
JOEIHOO0A5> 0.030mg/L 10,000L (BRZ5%80%)
ITOEHOOAY 0.100mg/L 10,000L (BZ%80%)
TOERILL 0.090mg/L 10,000L (B%%80%)
B 7> SR 0.20mg/L 4,000L (BRZ2£80%)
T ) 0.0050mg /L 4,000L (BpF%£80%)
JTARIY 0.00005mg/L 8,000L (B:3£80%)
N 0.04mg/L 4,000L (BrZ=E80%)
B 0.01mg/L 4,000L (BRZ380%)
. % BRI 0.30mg/L BRF%£80%
L I e TN e 0.20mg/L_ RZ%£80%
s FBTAEAK HE — 0.1~0.75MPa (1.0~7.6kgf/cm?)
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